DIRECTORATE OF SCHOOL EDUCATION

TAMILNADU
11PCMIT | JEE PRACTICE QUESTIONS | ==X
(2023-24) (TEST-11) Total Marks: 180

General Instructions:

1. The test is of 1.15 hrs duration and consists of 45 questions. Each question carries 4 marks. For each
incorrect response, one mark will be deducted.

2. Shade your final answer in the OMR sheet provided.
3. Extra sheet for Rough work purpose, will be given by the invigilator.

PHYSICS Q.No. 1 to 15 @@Ll S/ E @ SHEH L LILIL L
grngfl Qsmemevey L5 3x10m oELD.
1. Two string P and Q of force constant K, and (3'-081“:0 @_@Lﬁl—ﬂaﬁ 94@”5553@5.5'5@765?I—(3L{—|
K, (K, = K,/2) are stretched by a force of | @&FWELIGID 675]@5‘ mr.rﬂleﬁl eT6ofl6L @ LD LIl 6oT
equal magnitude. If energy stored in Q is E | WRAIGEUI&HSSH 60T LOGLILIMETS)
then energy stored in P is.

A) 2.33 x 105 N/m?
A)E B) 2E
B)23.2 x 10" N/m?
C) B/4 D) E2
C) 233 x 10" N/m?
(Ky = K./2) 6160Tm Mlemevuiev @ eiTerm K, oM miLd
K, eflens ompiledl Qgmesor P bHmID Q D) 2.33 x 10" N/m?
eTedTm @\ evor(h SUIMIGET &FLD 6T6vor LOHLIL]
Q& meoorL eflem & Wil @USBSUILIGSTOET. | 3 If 5 spring extends by x on loading. Then
Q aflev CFUISE MeaUGSLILILL  3LMM6Y

E qaflds P uld CrASE ausaLILLL energy stored by the spring is (If T is tension

in the spring and K is spring constant)

9 MMEVTETS
A)E B) 2E A) T?/2x B) T?/2K
C) E/4 D) E/2 C) 2x/T? D) 2T%x

2. The mean distance between the atom of ironis | g meTailev 66016V Blemm 6 60T M)
3 x 10" m and interatomic force constant for | @ emetor&&LILIHILLGLITS X  erellm@
iron is 7N/m. The young modulus of elasticity | eflifleuenn_&ma  erevflev  s@@er  ellsuedev

of Iron CFlsEs  mauSSLLLL QMMEVTETS
T eeoTLUG &@meT ellevellel QFWELLIRILD

A) 2.33 x 10° N/m? @ualems LnMHMILD K & e ellev Lomnledl)

B) 23.2 x 10" N/m? A) T2/2x B) T%2K

C) 233 x 10" N/m? C) 2x/T? D) 2T%/x

D) 2.33 x 10" N/m?
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4. Assertion : steel is more elastic than rubber

Reason : under given deforming force steel is
deformed less than rubber

A) Both assertion and reason are correct
Reason is correct explanation for assertion

B) Both assertion and reason are correct.
Reason is not the correct explanation of
assertion

C) Assertion correct reason wrong

D) Both Assertion and reason wrong

gahm : @@L Jluudr el 4868
LS G55 60T60)L0 G\ &5 TEvoTL_ )

SIMJEOTD : 2 (hHGMVHGWD  allema
QFWeLL(BHSSLIUMHWLEUTSI @ LD
TLLeT el GemMmeUTs 2 (H&Eem6ul LD

A) MMl LOMMID &HTIevoTd @) Tevor(hGLo
FflWmergl. &STIeoTld  Som )& &Hmeor
Frflwmeor ellemgasLn

B) MM LOMMILD &Myeoord @) Feoor(hGLo
FlWmergl. &MJeoTld  SwMN)&asTer
Frilwmeor eleT& &I 3{6V6V

Q) Samm FflWIMeTSl S5TI6NTLD &6 M ITEorS!

D) MMl LDMMID &TFeoordD @) Fevor(hGLo
SH6UMITETS!

. The load verses elongation graph for four
wires of same material is shown in figure. The
thickest wire is represented by the line

N\
D
Load
u©H C
B
A
N
7
Elongation
B &
A) OA B) OB
C)0C D) OD

8T 2 GeuM&HLl GQUITIHEITITEVITEOT  [HIT6OTES
shullesr 1S& UeEp (load) QFWeeLLI(BILD
GUMg gmU®LD BLE ommild Lieselm&smeor
QIETLILID LLSH6 STLLLILIL(He6Tersl.
@56 sllnermer &Hleow SOILLG WD
C&ITLITeOTSI

N\
D
Load
U@ C
B
A
N
7
Elongation
B &
A) OA B) OB
C) OC D) OD

6. Find the decrease in volume of sample of
water from the following data Initial volume
= 1000 cm’. Initial pressure = 10°Nm~ Final
pressure = 10°Nm? Compressibility of water
=50 x 10" m*N™!

A)—-0.95 cm? B) 0.95 m?

C)-0.45m’ D) -0.45 cm?
B wreflullear ser emaley gmUBGID
Genmellemer  LleTeu(pld  SSeuev86r 60T
QLU  HEOTHHLLIMTEL (4 TLDL
L@LWeor = 1000 cm® QLWL HW&HSHD =
10° Nm2 @mIB) WS = 106Nm=2  Biflesr
SW&HSH &6 = 50 x 107" m2N-"

A)-0.95 cm? B) 0.95 m?

C)-045m’ D) -0.45 cm?

7. Two mercury drop each of radius r merge
to form a bigger drop. The surface energy
released is

A) 1.657%rS
B) 1.657r*S
C) 1.65xr’S

D) 1.65nrS
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r SN Q&meoor @peor(h LUMHIEF
Sleflgem eerMlemetorhg Quflu sieflwims
LMTISME. @bBlswnailsy GeleflalLLiLi@Wn
LITLIL opmmeSledr LnG)LILImeoTs)

A)9x 10" ms™?
B) 9 x 102 ms=
C)9x 102 ms™
D)9 x 10> ms™?

8. Ablock of aluminium of mass 1 kg and volume
3.6 x 10* m® is suspended from a string and
then completely immersed in a container of
water The decrease in tension in the string
after immersion is

A)9.8N B) 62N

C)3.6N D)1.0N

1 9§ Blemmwd 3.6 x 104 m? HeoT Ij6TeLh
Q& meooTL. jevildleofll sl eml epetTml &LDLY
660TMI60TITEL &L QG TGN L LILIL (HeTersl.
@ 6UAIEMLOLILITETS  QEITETHEVET  6260TMI6V
2 etem HIflV (WNEUSIDTS eLNES QFUIWLD
Gumal @uallemauilev gmLI(BILD @LOLILIT6TSI

A)9.8N B)6.2N

C)3.6N D) 1.0N

9. Horizontal tube of non-uniform cross section
has radii of 0.1 m and 0.05 m respectively at
M and N for a streamline flow of liquid the
rate of liquid flow is

-
M

A) continuously changes with time
B) Great at M than at N
C) Great at N than at M

D) same at M and N

M LHmitb N pemerseflev wenmEuw 0.1m
WwmoIb  0.05m GMI&EE eul(h UFLL
Q&meooTL. Ermm GMEE Qeul (B UL
Qameoor  @pmuler eauPblCw  euflE&r
@l LSH6 B QFH M erenfley HILOLD
LMW efsLnmeors)

-
M

A) &HTVHMS QLITMISH S QS TLITHS! LDMMILD
BINLGHemnw el M - 60 3| &L0Ms LML LD
OM UGG il N6V H\&L0ME LIMULD
D) M iommith N e flGW &1 oemailev LIMUJLh

10. A tank filled with water to a height h is to be
emptied through a small hole at the bottom.
The ratio of time taken for the level of water
to fall rom h to h/2 and from h/2 to zero is

A)\2 - 1:1

B) V2:1

C) 1:1

D) 4:1
B QaMLI eermley h 2 WESey Brmersl
pliriuliuC@eTerg.  Qsmliquier  &Lp
LGS Ulev 2 6tem Gl siemer eudlwins By

QeueflGwmmUIL@LCUTEhe_ W Is 5 e [BH S
h/2 2 LIHHHGS B QFLID HTLSHHGSLD

h/2 efedlbas h = 0 && B GFsvsld
HTVSH MG 2 66T elFFHLO M6,
A)\2-1:1
B) V2:1
Q) 1:1

D) 4:1
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11. A steel wire having a radius of 2 mm carrying
aload of 4 kg is hanging from a ceiling. Given
that g=3.171 ms2 what will be the tensile stress
that would be developed in the wire

A) 4.8 x 10°Nm
B) 3.1 x 10 Nm>
C) 6.2 x 10 Nm>
D) 5.1 x 10° Nm?

2 0.5 SLTLD Q&MeooTL (H 6T SLIulev
4 SE aolL @M FmenTulledmha
QamHIGMLLILIL(H6Tengl. g-6T LG
31t ms? eTeoT  Q&meoorLmey, &Lluiev
2 (HAUMGLD @) WeNlenT 58 6T6TSl

A) 4.8 x 10°Nm
B) 3.1 x 10° Nm2
C) 6.2 x 106 Nm>
D) 5.1 x 10°Nm™

12. A thin liquid film formed between a U-shaped
wire and a light slider supports a weight of
1.5 x 10N The length of the slider is 30 cm
and its weight negligible. The surface tension
of liquid film is

SN
FILM

A)0.0125 Nm'!
B) 0.1 Nm!

C) 0.025 Nm'!
D) 0.05 Nm'!

o6 U eaye sDOISGL @G b6
HLEH &G Bhelsy Quevedw Hgeu g
QR60TM 2 (HEUMUSHTEH G &HMETCEUTLD. H(LD6Y
HLEH 1.5 x 103N eremLenll STHRIGHR DS
BHWe| &HLEFHuler Herd 30 QFLS HmILD
3| & 60T 6T6oL LI & 8560011 6 5 & 5 85 5 &)
6T6e0TE QG&ITEOOTLMTEL Hgeu el 19edT Lyl
@ wellem & WImeTs!

SN
FILM

A)0.0125 Nm'!
B) 0.1 Nm!

C) 0.025 Nm!
D) 0.05 Nm'!

13. If the diameter of a capillary tube is doubled
then height of the liquid that will rise is

A) Twice B) half
C) same D) None of these
®m &haHE GLTWear allLHoms

@\ (BLOLBISTHSR60TTEL GHLMUIley GLoaILIHLD
BISF 60T 2 WIFLINTeTs

A) @B LOLMISGTGLD

B) UTHWMGSLD

C) Mgl

D) GM &l 6756 l6vem6v

14. Pressure inside two soap bubbles are 1.01
and 1.02 atmosphere respectively. The ratio

of their volume is
A)8:1 B)0.8:1

C)2:1 D)4:1
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@m Gormly GUILLEHEBEHEGET 2 616
WHSDL wWemmGw 101 wmm  1.02
QUEfIDETITL 6V (DS SHID 6TevfleL 2 eummleor
LIgHLoéotleor & & L0

A)8:1 B)0.8: 1

C)2:1 D)4:1

15. When a block of mass M is suspended by a
long wire of length L, the length of the wire
become (L + /). The elastic potential energy

stored in the extended wire
A) Mgl B) MgL
C) 1/2 Mgl D) 1/2 MgL

L Berepemer &L spedrnilél M Blemmu|eTer

&L 60 62 60T M) QsmmIGe L UUGILD
Gumal swbUwler Herd L + ) s
BL& SIS 6Tevf 16V SILNuflev
GFril5 s MeUE S LILIL (HeTerr BL&
151606V WIITMH M6V TEOTS!

A) Mgl B) MgL

C) 1/2 Mgl D) 1/2 MgL

CHEMISTRY Q.No. 16 to 30

16. In which of the following functional group
isomerism is not possible?

A) Alcohols B) Aldehydes
C) Alkyl halides D) Cyanide
LD &> 55 600T L 6THS 660 60T Q1 &F WLI6L

QETGHEG LMTHMIWLD HenL WS
A) 3L6VHAMITEV

B) @yeuigemam®
C) SJ6LEM&FH6L UM TEM 6V (H)
D) &wemeor(h

17. The compound having only primary hydrogen
atom is

A) Iso butane

B) 2, 3-dimethyl butene

C) Cyclohexane

D) Propyne

e 1fl ety 6v0T WL QML _[J8360T
WL HIGL Q& mevoTL. G&FJLOLD

9| 6501 & & 6T

A) G LIu,L GL 6T
B) -2,3 emL LSGem & 60 LIlWl, L L@ 6oT
C) aUem6TW Qe &G & 60T
D) UG ITLI60)LI60T
18. The IUPAC name of Compound

C|H3 ClHZ—CH3
CH3—(|3 — CH,— CH,— CH— CH,
CH,—CH,
A) 2, 5-diethyl — 4-methyl hexane
B) 3, 3, 6 — tri methyl octane
C) 2,5, 6 — tri methyl octane
D) 3, 5 — dimethyl -6-ethyl heptane

HCY  QHTHSSILUL(B6TeT  GFFLNG S 60T
IUPAC QUIWIT WImgI?

CH CH.-CH
| 3 | 2 3
CH,—C — CH,— CH,— CH— CH,
|
CH,~CH,

A)-2,560) L FF 560 & 6V-4-L085 60) & 60 Gl a1 8> G & 60T
B) 3,3,6 - 1960 LG 60 &6V 31,8 CL60T

Q) 2,5,6 -19.60VJ LG 600560 2,8 CL60T

D) 3,5-60L LG 6M &6V -6- 6T&H 6L Qlam L IGL_6oT

19. The [IUPAC name of the following compound
is

/
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A) 5, 6 — diethyl -8- methyl dec-6-ene

B) 5, 6 — diethyl -3-methyl dec — 4-ene
C) 6-butyl -5- ethyl -3- methyl oct -4-ene
D) 4, 5 — diethyl -8-methyl dec — 6-ene

FELpE& 50Tl GF TGS B 60T IUPAC QLILIF

/

A) 5,6-60L 61556V -8-1056M 56V GL_85-6-FF 60T
B) 5,6—-60)L_ 6T&H\ 6V -3-108 600856V Gl L& -4-FF 60T

Q) -, emL6L -5-6T5FH6v -3- 15600560
& L_-4-F 60T

D) 4,5-60L 6T& )6V -8-108 60086V G\L_&>-6-FF 60T

20. How many ¢ and m bonds are there in the
molecule of tetracyano ethylene?

A) 96 and 9= B) 5c and 91t

C)9c and 7n D) 5¢ and 8w
QLLm&EWGerT 6783 6560T 6T60TM C&[J LD S H) 6V
HHMmeT o WmmIb 7  LlemevorliL|&eT
o _6ITeImeor?

A) 96 LOMMILD 9 B) 56 LOMMILD 9n
C) 96 LDMMILD 71 D) 56 LDMmMILD 8x

21. The correct decreasing order of priority for
the functional groups of organic compounds
in the [UPAC system of nomenclature is

A) —COOH, ~SO H, ~CONH,, -CHO
B) -SO,H, ~COOH, ~CONH,, -CHO
C) —CHO, ~COOH, -SO,H, ~CONH,

D) -CONH,, ~CHO, ~SO,H, ~COOH

IUPAC Quuwfl(Lb (wemmuilev
GO Lul @eiter 6l 6m6OTE Q & L6V
QaMG & sefler siflwmer @mmi@ auflens

A)-COOH, —SO3H, —CONH,, -CHO

B) —SO3H, —COOH, ~CONH,, -CHO

C) -CHO, ~COOH, -SO,H, ~CONH,

D) -CONH,, -CHO, —SO3H, —COOH

22. Which of the following does not show
geometrical isomerism?

A) 1-4-dichloro — 1-pentene
B) 1,2-dichloro-1-pentene
C) 1,3-dichloro-1-pentene
D) 1,1-dichloro-1-pentene

GLpseooT GFTINMmIGETI6L aUlgal WmMHMIWILD
@ eveuTs GFJLOLD

A) 1,4- 60L& CemmGIIT -1- GlLIGOTIC 60T

B) 1,2- e &GemmGim-1-G)LI60TIC 60T

Q) 1,3- L &C6mmGym-1-G LI60T LC 60T

D) 1,1- ML &CaTm@ri-1-6)LI60T LR 60T
23. An optically active compound is

A) l-bromo butane

B) B- bromo butyric arid

C) 2-bromo-2-methyl propane

D) 1-bromo-2-methyl propane
eeflaxlpMmE mMHMlWLD 2 6Tem GFJINLD

A) 1- 4ComGLom LNw, L GLedr

B) B- LCrCLmIWL flé 9dlevid

Q) 2- UYBrmGBLom -2- I5&em & 60 L|GTmLIGLI6sT

D) 1- 4BFmGLOM -2- &M 6V LG mLIGLI60T
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24. Isomers present in

CH,~CH, _H
C=C H
s ~c 7
CH, /N
CH, COOH
A) Geometrical isomerism and chain

isomerism
B) Optical isomerism only

C) Optical isomerism
1Isomerism

and Geometrical

D) Geometrical isomerism alone

Q&THSHELILIL (heTer GFILDSH 6L
&meoorLILI(hleus!
CH,~CH, _H
Cc=C H
s \C/
CH, /N
CH, COOH

A algel MOHMlWID WwHmIh  FriSEed
Q&ITLY Lmmlwilh

B) sperfl &rLoM& omm ML

Q) eperfl &PME mHMluD WHMILD 6lIg el
WrHmlwLD

D) aulgeunmmmluib ol I

25. Which one of the following does not show
tautomirism?

A) HCN
B) acetone
C) Nitro methane

D) Ethanol

QWmG &blemew LWMMHMIWLD
F:Fyfhlh

Q@ eVeLMSH

A) HCN
B) o1& GLmedr
Q) eBL GBI LS5 C5 60T

D) 6788 60TIT6V

26. Which of the following is a heterocyclic
compound/s

1. Anthracene i1. Naphthalene

iil. Pyridine iv. Thiophene

A) i, ii B) i, iii, iv
C) iit, 1v D) iii only
ELOHTH&SHLILL (6T GFJLOMmIG6rfl6v

LI6Ledl6uT euemerTl CGEFFLOLD 6TSHI?

i. QLI5S T & 60T ii. [HITL18 6060
iii. LNflq 07 iv. HGWImL 60T
A) i, ii B) i, iii, iv
C) iii, iv D) iii DL (LD

27. The hybridisation of carbon atom 1, 2, 3, 4 in
the Compound *CH=*C-*CH='CH,

A) sp, sp, sp, sp
B) sp?, sp?, sp, sp
C) sp, sp, sp, sp’

D) sp’, sp, sp, sp

‘CH=’C-°CH='CH, etetrm GFIINSH 6V
&SMjuer  1,2,3  MMID 460 2 66T
©) 6075 856V LIL | 15160)6V G LD &5 5 600T L

alflenguie omnH M.
A) sp, sp?, sp, sp*
B) sp?, sp? sp, sp
C) sp? sp, sp, sp’
D) sp3, sp, sp, sp

28. Which is incorrect match in accordance with
[UPAC system

i
i) CH,-CH,-C-CH,-CH-CH, i. -4-bromo-2,
}|3 CI:H 4-dimethyl
' 3 hexane
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__ CH,~CH-CH-CH,-CH,
i1) I I 11. -2-methyl
CH, CgH; -3-phenyl
pentane
iii) Br—-CH,-CH=CH, 1iii. -1-bromo prop-2-ene
0]

. Il
iv) CH,~C—CH,~CH,—~CH,-COOH
1v. -5-ox0-hexanoic acid
A) 1,1 and i1 B) iii and iv
C) 1ii only D) i1 and 1ii

IUPAC QUW QD wemmuilev QUTBHSTSHS!
6T&1?

g
i) CH,~CH,~C~CH,~CH~CH,
Br CH,
i.-4-GrymGLom -2, -2
ML LSS 6V
Qam& & 6ot
i) CHS—CIH—(fH—CHz—CH3
11
CH, CH ii. —2— L5560 & 60—
3-LNemeotev
G\ LI60T G L_60T
iii) Br—-CH,-CH=CH, iii. -1- 4@pmGLorm

LG ImLI—2—FF 60T

0]
. Il
iv) CH,~C-CH,-CH,-CH,~COOH
iv. -5-2L,&C&F M
QamseumGermuils 9jleun
A) i, i LDMHMILD i
B) iii LDMMILD iv
Q) iii LD
D) ii LDMMILD iii

29. Two possible stereo structure CH, — CH(OH)
— COOH, which are optical active are called

A) Diastereomer

B) Atrop isomer

C) Enantiomer

D) None of these
CH, CH(OH) COOHeTedTm G&FFOGSHIEL 2 6iTerT
@ revoT(h ep6rfl SLoMMILD HeTemLD Q85 TevorL
LI600T L 6T60T LIS

A) LweneflGwmnrg

B) &+Lp6L aUlg 6l oMM MWL

C) eTeoTeOTFIGUWITLOT

D) B Lommitn C

30. Number of secondary carbon and hydrogen
present in the compound

Natl

Br
A)2,3 B)2,2
C)3,3 D)2,0
FBLDHHTEDIN PG MIL  (WemmGCW

THHeMmeT  FIfleneoorl SITFLIET LMoID
EDIQUDL_[T Q60T 260085 61T 2_6TET60T?

T

Br
A)2,3 B)2,2

C)3,3 D) 2,0

MATHS Q.No. 31 to 45

31. Let a, B are the roots of ax*+ bx + ¢ =0 then
im 1 —cos(ax’+bx+c) g
e (x—ay

A) 0
B) 5(a—pY
) 4 (a-BY
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o, 3 6T60T LIGOT ax? + bx + ¢ = 0 6T60T M) & LD 60T LIITL_19 60T
eneUEIGET aefley m 1 =cos(ax’tbxte) gy
LD@UL] (x—a)

A0
B) 5(a—BY
Ofgw—ﬁf

D) ~&-(a - BY

32, Ifim x(1+ acos;)— bsinx _ 1, then a, b are

i X(1+acosx)—Dbsin x
x—0 3
X

LG L &E6T (pemmGul

=1 eT60f6V a, b Serfleor

1_
A) 55

es)
pojan

)93
0%

D) 6716 LD @)6V6M6V

33, 1f b, 2B =Ll M)

then the value of KM + MN + NK is

A) 54
B) 90
C) 45

D) none

im 129" —243"—81*"+9*+3*—1

x—0 3

N = k[log M]"
6T6ofl60 KM + MN + NK — 60T DS\ LIL

A) 54
B) 90
C) 45

D) T8I0 @)6L6Mm6V

is equal to

35. The value of i, [sligox +[ 99b;znx

[.] denotes greatest Integer functions

] where

A) 197
B) 198
C) 199

D) None

[] eTeoTLIS! WOLIQLIH (LD 6T600T &FITITL] 6T6vT16V,

im 100 99511’1 X . .
o sinx]+[ X ] -60T 0G|
A) 197
B) 198
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C) 199

D) 6T&I6LD @)6V6DI6V

36. im [mm(y 4y+ 1)5me] is equal to ([.]
denotes greatest integer function)

A)S

B)6

Q)7

D) does not exist
[] eTedTLIG WOLIQILIIH (LD 6T600T &L 6T6ufl6v,
. [min(y'— 4y+ 1)$I0%| 6T G

A)5

B) 6

Q7

D) 678160 @)6V6M6V

37. ABC is an isosceles triangle inscribed in a
circle of radiusr. IfAB = AC and h is altitude
from A to BC, then pim A

im =15 equal to — (A
area P - perimeter)

1
A) 327

r SLIWETeT  QILLSHHGET emnujld
AABC @[ @@HFLOLIGHSES (PHGSHTEoTID. AB =
AC lommilh 'h' eteoTIg A-UledBIEE BC-5@&
U TWLILOWD G585 G&ITLI6T 2 WD

6Tévtl6v h';m_o%—a'fr LG @A-ugiy P -
S DET6Y)
1
A) 39,
1
B) $1r

1
C) 128r

1
D) 516,

38 hm 12\/7 (COSX+Sln X)2

1 —sin2x
3v2
A) 392

is equal to

B) 212
o 4y

D) does not exist

im 7T 24/2 —(cos x + sin X\
73 1 —sin2x

A) 3‘2@

-60T LOS\LIL

B) 212

4v2

C)i

D) DH\LIL| @)6vemev

1+acosx+bcosdx, x#0 )
39f@0—{ Cr=0 is
continuous at x = 0, find the value ofa +b +
1
(o 3
A) 4/3
B)2
C)4
D)3
1+ acosz+ bcos 4z, x;é 0
f(x)— — () eTeT FmrLY
x=0, 6V Qg,rrl_l;'rét@u_lrrwrgj Grezfﬂa) a+b+c +%
60T LOSLIL
A) 4/3
B) 2
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04

D)3

40. The value of P for which the function

(4 —1y
77:X7#0
f(x) = sin<%>log[l +X?
12(log 4)’ ;Xx=0  may be
continuous at x =0 is
A)l
B)2
03
D) 4
(4 —1y
77X #0
f(X) ={ in( X .
(x) sm( p>10g[l +3 ' .
12(log 4)° ;X =0 6T60T M FIMIL| x=0

6V QS TLIFFUIMTS! 6T60116V P - 60T LDGILIL

A) 1
B) 2
Q3
D) 4
36 -9 -4+ 1
ALIF fx) = kﬁ—m’_ :és is

continuous at x=0, then k is
A) 16 log 2 log3
B) 1612 log 6
C) 1672 log 3 log 3

D) None

11

36 =9 =4+ 1
f(x)=1 V2 —y1+cosx’
k

X#0| 66T &ML

; x=0
x=0 6V QS TL &G W Teorgl eTevfl6v k— 60T DG LIL
A) 16 log 2 log 3
B) 1672 log 6
C) 16V2 log 3 log 3
D) 6T&I6|LD @)6L6Mm6V
42. Let [x] denotes the greatest integer or equal
to x. If f(x) = [x sin nx] then f(x) is
A) continuous at x =0
B) continuous in (-1, 0)
C) differentiable at x = 1

D) differentiable in (-1, 1)

[X] T60T LIS LSLIQLI(H (LD (LD 6T600T &FITTL] LDMMILD
f(x) = [x sin 7x] eT60fl6L f(x) 2YEOTSI

A x =060 QBTLIFR W TS
B)(-1,0) 6V QS TLIEF WITeTS!
Q) x =160 UMGBWILEHE5HSII
D) (-1,1) eV auemsWIL G HH&HS!
43. The value of the f(0), so that the function
Fx) = Jal—ax+x’—ya'tax+x°

Ja+x—ya—x

continuers for all x, 1s given by

becomes

A) ava
B) Va
C)—Va

D) -aVa
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Jai—ax+x>—ya’+ax +x’

f(x) = ot x—Jax 6T60TM
FoL eV  x-607 WS LILHEHESHGLD
QBTLFFH WMl 6Tevtlev f(0) eN6dT DG LIL

A) ava

B) Va

C) —a

D) -aVa

44, 1f f(x) = 2(5_x(—2+5362)_”57f )2”8 , x#0 then for f'to be

continuous every where the f(0) is equal to

A) -1

B) 1

C) 2¢

D) None of these
- GEGEY | e e
gy 26N 6TS Gl LIS EBEGLD
QBTLIEFF WIMeTg) 6Tevt]6 f(0) 60T LOFLIL

A) -1

B) 1

Q) 28

D) @6UMMIGT 6TSHIA|LD @)6L6M6V

12

[ (1 —sin’x) T
3cos’x N 2
45. If f(x) =1 a,x=% 1S continuous
b(1 —sin x) N4
(r—2x¢ X7 2
b 5/3 .
at x = /2 then the value of <E) 1S
A) 12
B) 16
C) 32
D) 64
[ (1 —sin’x) T
3cos’x < 2
) _T 6T60T G
f(x) = a,x =% 1y oy
b(1 —sin x) ST
(r—2xy %~ 2

x=1/2 -6V QGTLFFF UMl eT6vflev (%)ﬁ/B—ah
OSILIL

A) 12

B) 16

C) 32

D) 64
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